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6.3. 10 A ZLI 255 F7 35 0 £l B AHERUE 6. 3,100

[ 6.3. 10 A5 & [ 45 1 7o B
[ — o s [T — Bt s O— 3 3 BB 3 R— HE 3l [ 90 A4
ALB C— i 3l 5 405 R AT 4 1 28 00

. 34 .



B [8
> (e, L, +W | cosa, tang, +U g, L tand, )+, 2 Cey, L, +k, W, cosg tang; )
K—=2 B

W AW ) sing + S W sina,
| (6.8, 10)
Ao L5 AR (m)
W —5 i £ 57E IR0 1 5 5t (kND 5
W55 0 F &R IR B 09 E i (kND
U, — 55 11T 76 305 9 181 45 B Q4D
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b I AR 2 R AR A B KL ) AN R TABAE J5 iy 3 7K
A ITFROEAE Y 1. 2 £ B /NS R 0 K T 85 T

B 358 A7 7R 58 4 S K /N BRI R IR A

XK,

Ny Ge :
Unl;nx78(1+8) (6.3. ].8 ].)
_ NG i
amm—B(l B) (6.3.182)
A 200 e RFEE L Ty (kPa)'y
O’min—HEli/J\%JEEEjJ (kPﬂ) ;

N—AEH PRI AFEEH G 71 (kN
B —— B 474% IS g 96 (m)
I A 77 69 OB (m)

e
6.4 MKEIHE

6.4, 1 DEREIT RN AL S AN

1 BEI0 A 2 Ah 52 B R R 0 I R T 4

2 i T IR R RN TS DR A

3 X b AR | r 3R AR Ak mi A [R] M FE A 3 Ty 20 28 B 1) 2
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